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3b (2157 8oYY) > 4b (1035 DY)

Note #1: one of the hermeneutic rules of inference is that of 5553 /v 727— if a general rule covers numerous cases and one of these
cases is mentioned independently, the consequences associated with that rule are then reﬂected back to all instances of the rule:
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L Premise — n”» nmT nwy nn¥n — that necessitates inference from 1MWR MR to exempt MY from o1a»
a. Source:v. 1 (juxtaposition of D™ 8% MR with n'¥’x nn¥n teaches that even if putting nyx on
garment will violate T2 '8Y, we fulfill the nx¥n nonetheless)
i. Notion: of juxtaposition — v. 2
ii. Application: of juxtaposition in B127 ‘0 — v. 3 (not forcing a NN’ to marry an unsightly man)
iii. Even /777 7. who rejects juxtaposition in other mwmn-e.g. v. 4...
1. Ama 7 rather infers na™w of nawan from rule of (D2owaN) Y932 NNY Y3 (see note #1)
a. 2w N get nonw > all mavon get naMw
2. Nonetheless: he utilizes it in ©7127 ' (v. 6) to prove that 2R nonR etc. are MoR
a.  p2a7 first half of pioa interrupts the mano
b. »7r v.6b is out of place (should be in 1> X1p») or nign (274 half)
iv.  mwy/noyw: is also either “out of place” or nam
1. o571 is out of place: should be in 9271191 "0 with no®x nwls (v. 8)
2. /oy (meaning that it is superfluous)
a.  Suggestion: 110YW MOX is extra (already in RIpn - v.7)
i. Rejection: both needed
1. Prohibit: nrYyn/allow non-benefit nx5yn e.g. M3 »10n)
b. 2727 all D11 are assumed to be D'nWaY NN (as per v. 9)
i. Therefore: mnway M0y in v. 1is nom
i. Challenge: needed to limit prohibition of wearing (more
severe than nrYyYn) to "y
ii. Defense: text could have elided 8%, we would have inferred
NYYV::NVYY from v. 7 (>only 2"x)
iii. Challenge: why does " »27 Rin need 9"x?—
1. In any case: in any case, n’¥’¥ should trump :noyw
2. 72705 all o1 are 9"y
3. A7 commands n%an (wool) on all o1 (even linen)
iv. defense: perhaps follows R17’s reconciliation of
1. 929 =same material as 913 vs. DNV NN
2. Reconciliation: 9" are sufficient for any 13;
a.  All others: require string to be same type as 711
3. Although: »"127n rejects X17, he still may accept the careful
reading of 915=413 pn) = wool garments receive wool
strings; linen receive linen strings (i.e. no noyw)
4. Therefore: he requires “9"x” to allow wool strings on linen
garment and vice-versa
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